“*THIS ITEM HAS BEEN DIGITALLY SIGNED AND SEALED BY MICHAEL J. WOJTUNIAK, P.E. FOR ONE SITE SPECIFIC PROJECT ONLY. PRINTED COPIES OF THIS DOCUMENT ARE NOT CONSIDERED SIGNED AND SEALED

AND THE SIGNATURE MUST BE VERIFIED ON ANY ELECTRONIC COPIES. UNLESS THE RAISED SEAL HAS BEEN UTILIZED. ***

oo 6X 257 16 GA BRACED ROOF OVERALL REVISION DATE
BRACED ROOF PURLIN
f e ANDBEARNG TAB AUGUST 14, 2024 2
L (2) #12-14 X 1-1/4" TEK SCREWS (2) #12-14 X 1-1/4" TEK SCREWS 2 | : =
v ) S Sl 40 ALL BAR JOISTS PAINTED — p
26 GA PBR METAL ROOFING - J W/ RED FLAT EPOXY PRIMER — Q
_ | — FASTEN TO STEEL PURLINS =\ S , OR MACHINE BLACK — E
7= jr L= PER SPECIFICATIONS /O: A,\ c " ENGINEERS NOTE: 2 E:)
L \ ) 4/» " 1. ALL ROOF PURLINS SHALL BE A MAXIMUM OF 48" OC APART. 0
16" OVERHANG 2 PURLIN CLIPS 48" OC (TYP) 3 4/ ¥ = s ;
£ LL]
z \ | ] o WELDED T0 END ANGLE
g 5 2" 3 am
? ¢ 041/4" o
N 6" 16 GA EAVE STRUT OR ZEE PURLIN >
N il /‘. / L] FASTENED W/ #14 X 1-1/4" TEK SCREWS o
s ([ %
3 = RO Y 2' X 2' X 316" STEEL ANGLE N i =
e E EVENLY SPACED FASTEN TOP AND BOTTOM CORD ; _\ ° 3
s TS OVERHANG TO UNYIELDING TORQUE 1-1/4" X 1-1/4" X 3/16" STEEL ANGLE — (3) 1/2' X 10" THROUGH BOLT, NUT
- (TYP) 2' X 2' X 3/16" STEEL ANGLE WEBS OR(3) 112 x & LAC BOLTS AND WASHER
%% BOIIOM CORD BRACING TYPICAL BAR JOIST SIZES ASSEMBLY
s BAR JOI?T UP.. TO 15‘-9" SHALL HAVE A 12" BAR JOIST | 6X6 PT POST OR LARGER
= 8 & & & 3 S Sl LIS % 5 % % 5 % SIE ggé | A G R BTI M SHORD OR 6X6X 3/16 STEEL POSTS ) z
= E % E % E % E % °© % 0 g o [ oo 9|2 olla <lla <||a <llo o | g%é MAXIMUM WIDTH 65 BAR JOIST FROM 151+ O 40-0 SHALL HAVE A 18" BAR JOIT 3 = £
S b I < b o |2 Nl NN ~|©Q ~ |© Nils ~O ~| O ~|1O ~|= =5 XX 316 ) S | THROUGH BOLT OPTION = T
5 & R 3B e 5|13 Jg 2l e g 2l e 22 ok 52 Hz 288 #*+STRUCTURES OVER 50' REQUIRE ENGINEERING REVIEW | T xiictiesie |t = N >\ ¢
o O © o o o o 5 x <P = : || || || < || TO TOP AND BOTTOM CORD*** R 2 X 2 X 36 TOPBOHOM ChoRD YOt LS | STEEL POSTS W/ (3) 1/2" X 10} P
2 2 o of [ % 3 5 % 5 5 o 2' X 2'X 3/16" WEBBING =53 | BOLTS, FLAT WASHER AND Z |
= = 40' 0" SHOWN 65' 0'MAXIMUM SPAN O | NUTASSMY. <C =
= RS e 315
LU —
5 = ENGINEER TO SPECIFY BAR JOIST 53 O I|=
& > WIDTH AND POLE TYPE CATURAL GROUND 35 Nz
<
L I >
a —
&= ©) — L — \ LLI ]
T P mm = PR =z
0 é \ STRUCTURAL BRACING NOTE FOR FRAMING OVER 50 ’//%\///\\\ \ s
g S 1. BOTIOM CORD BRACING SHALL BE ADDED TO THE (RAT RUNS) TO EVERY 96 INCHES \/%/& T ®
= ) ALONG THE BOTTIOM CORD. THE BRACING SHALL BE 16 GAUGE ZEE PURLINS FASTENED VP POLE BARN CONSTRUCTION
TO SHOP WELDED TABS.
= | S I— 15 48" ALL POSTS MUST B SEQURED Wi CONC
= 2  EASTENED O COLUMNS | ) B PO LE B AR N SEC'“ O N Vl EW PER ENGINEERS DIRECTION OR DETAILS
o = PER DESIGN
WIDTH BASED ON SIZE : WIDTH BASED ON SIZE
z SEE DETAIL K THIS SHEET S-] SCALE: NTS SEE DETAIL K THIS SHEET @)
: =z
O —
& s
8% Dl LIJ ENGINEERED PERMITS, INC.
56 40 N ans ) L] ||| 311 SOUTHWOODLAND BIVD.
é é foerwggge Z ;EII_T:N% FL 32720
Sz PHONE: 386-734-0830
2 %% B 24" GABLE ENND OVERHANG | G FAX: 386-734-8226
a ‘ | ||| CERTNO. 26298
g 3= | EMAIL: epi@epieng.net
283 | | | LL| | |
0) | 40'x 60'x 14 |
< ENCLOSED POLE BARN
- | 8X8 PT POSTS | &
= 18" BAR JOISTS &
< | 412 PITC% |
S | 26GA VERTICAL PBR | |—18" EAVE SIDE OVER HANG
18" EAVE SIDE OVER HANG . 6" 16 GA RURLINS e O
54 L] - 52 ‘ X ‘ X 4'—>€ E
| | | — e
| \ STEEL BAR JOIST POSITION | ENCLOSURE |DETAILS | < =
STEEL BAR 01T POSICY 18" OVERHANG | ENCLOSED ROLE BARN 2 = S —
PER DESIGN X > o2
\ (2) 14X12' ROLL-UP DOORS? \ <ZE =m
A 65 0" | | (2) 3X3' WINDOWS* | = o
MAX ‘ (1) 3068 STEEL MAN DOOR* = <2
X X —‘—x — o
/A" POLE BARN PLAN VIEW | CLSTOMER LOCATED | = ES
L w
| | | = &
\W SCALE: NTS ‘ ‘ ‘ = &
S =
| | | -
| | | Customer: = |5
| | | = —
‘ 24" GABLE END OVERHANG ‘ SEAN D EVO R E % E
- L J LLl
8239 SWOLDWIREROAD [ &
FORT WHITE, FL 32038
0.25" PRE-DRILLED
HOLES FOR (4)
TEK SCREWS INTO
PURLINS
14 GA ANGLE
CLIP \ ~
DR NOTE TO INSTALLER
j\g El Ti 1 THE DESIGN, FABRICATION, AND CREATION OF STRUCTURAL STEEL ELEMENTS MIChaeI ‘J
2)12-14 X 1-1/4" z = ||
Blaiiat ™ L N SHALL PEINASS ORPANCE WITH AISC 360 AND AISC CODE OF STANDARD 1. INSTALLER SHALL ADD LATERAL BRACING DURING THE ojtuniak
SHOP WELDE! — L] ERECTION PROCESS TO PREVENT BAR JOIST MOVEMENT. ~
I | |
— T Pigitally signed by Michael J
) 6X2.5716GA ' COMPONENTS AND CLADDING (exp=C, gcpi=0.00 (Open)) tally !
L e . R SRY ENGINEERS NOTE: i oy
22— 4" (2) #14 X 1-14* TEK SCREWS 7 AND BEARNG TABM/ THIS PLAN HAS BEEN PREPARED WITHOUT THE BENEFIT OF A SPECIFIC SITE ULIMATE [ ROGF . BN ;1 S ettt
7& 7777777777777777 _ _ % o { ] i / PLAN FOR LOCAT'ON CONSTRlAlNTS OR COND'T'ONS. CONTRACTOR / 140 MPH 7.4 -47.8 -54.3 +18.4 -25.1 +18.4 -25.1 cn=Michael J WOth iak
dﬁ , BUILDING ERECTOR SHALL CONTACT ENGINEER IF SITE CONDITIONS EXISTING T ITRIELE " — — — — — Date: 2025.04.13 12:55:35 -04'00
/1 ™\ PURLIN CLIP L orrEEEEE THAT PREVENT A TYPICAL CONTRUCTION PER PLAN.
(18 GA) 22 o2 il it % e o LT,
= STEEL BAR JOIST y y KL e
il 1.5" X 1.5" STEEL ANGLE THIS STRUCTURE HAS BEEN DESIGNED AS AN AGRICULTURAL BUILDING, RISK = — \ J N7
\ MIDDLE JOISTS ONLY ! COMPONENTS AND CLADDING =C, =+/-0.18 (Enclosed AL . I/
w SCALE: NTS 2 (18GA.) ZEE PURLIN LOADING/SPAN TABLE CATEGORY |. ADDITIONAL ENGINEERING AND PLAN DETAILS ARE REQUIRED P el RS 24 %,
3/8" X 3/4" BOLT, WASHER AND NUT ; y 3 OR MORE SPANS, STD. LAP TO BE USED AS A RISK CATEGORY Il STRUCTURE. VELOCITY ZONE N ot 2
NOTE: (A)S,\?'\é'xrf ﬁglETNED TO 2" WELDED TAB i/S%I\3I<Y3F/XSTBE?\ILETDVTV<§S2l_"'EVr\z/EALBEDNTUATB o 16 GAUGE 14 GAUGE S T ROQOF 3 /5 AVG ORMALW o 25 AVC PAST *%-'. L o 6 "/?1':
RS s e - e GENERAL NOTES i e 2 LU
: 15 F 176 35 - 150 MPH | -244 | -59.3 668 | +223 | -329 [ +223 | &9 3 = e
BRACING NOTES: =0 P S
1. STEEL BARCING SHALL BE ADDED TO ALL INTERMEDIATE BAR JOISTS. swes [18F1 | 118 157 1. ALL CONCRETE WORK SHALL BE 3,000 P.S.I. AT 28 DAYS, oo (B | 75 | Ten | v | P 0BT L 3ie | awnagE OF| B ¥
2 ORTS B FLET ON CENTRR. - - /\DDEDTO BACH HALF OFTHE BAR or | o 22 2. MINIMUM SOIL BEARING SHALL BE ASSUMED AT 2,000 P S.F. o | 306 | as | wse | wie | i [waie | abrgp, A - ?';‘%’-
: : . 3. ALL CONSTRUCTION SHALL BE PROVIDED IN ACCORDANCE . . o N S X
3. LATERAL BRACING ONLY REQUIRED FOR BAR JOISTS GREATER THAN 12 . 78 WITH THE FLA BLDG. CODE 2023 8TH EDTION AND ASCE COMPONENTS AND CLADDING (£x0=C, gopi~+-0.5 [Parfaly Enciosed] %) A (0. ﬁ.\.g.;& é‘.\&%
‘. 7-22 WIND CODES FOR AN ULTIMATE WIND SPEED OF 140 MPH AND GREATER. PRESSURE (PSF) 1510 CV's S
8'WEB | 22FT 105 145 VELOCITY ZONE 7,/ ONAL \[\g: 3 g
FOUNDATION SPECIFICATION TABLE e - - THESE PLANS INCLUDE DESIGN FOR ALL WIND ULTIMATE ROOF WALLS Mgy o
e prrosT IO UP 10 10 SALL e F \ BRACING DETAIL SPEEDS UP TO AND INCLUDING 160 MPH ULTIMATE WIND SPEED. 1 z TS AVC NORVAL | A5 AVC PARAITEL ohE
NATURAL GROUND T OR6'X& PTPOSTS 20'0x 30 J000PAMN, ' LR N LR NFOUNDS 78 0T 4, ALL SIDING AND ROOFING TO MINIMUM OF 26 GAUGE TaoMP | 290 | 597 | 065 | 1302 | 867 1302 | 367 Sus
N TSR \ 51/ SCALE:NTS ATTACHED IO THE COLUMNS AS SHOWN AND CONSIDERED 1O
— BAR JOIST OVER 40' 1" SHALL HAVE: 5. FOR ZONE LOCATIONS SEE ASCE 7-22. THE T60MPH | 383 | -780 | 865 | +394 | 479 |+394 | 479
T g ¢ . Z PURLIN \ L /e
20 s Craliiasnc o, L o o=
\\\\ \* A\ ) 45 BAR NORVAL exo 6. DESIGN LOADINGS: |
// — #5 BAR THROUGH PT POST EVERY 72 (1Y) 2 DEAD LOAD = 5 PSF
// 15" ABOVE BOTTOM OF POST /‘\ ROOF LIVE LOAD = 20 PSF
N | STEEL POSTS SHALL HAVE WELDED B S rE A o o WIND LOAD = PER TABLE
%%&EL{E?E%LESY{CLEAN {1 g BARS ATTACHED kﬁkﬁ&%ﬁﬁ%?%%%\ J C o vv ‘ ~,'V' SRR I Z PURLIN ’ 7. DOOR AND VT/lNDOW DATA: SEE TABLE THIS SHEET.
] ! Ne) I AP o, Sy e T . w [
ABOVE CONC ] % : B I SR R L 8. ALL WINDOWS AND MAN DOORS MAY USE 1/4"X1" LONG
S SRR ALY TEK SCREWS IN LIEU OF THE WOOD SCREWS WHEN M qq’nN *4 T/M q Rﬂ -
| i Ne e T T 1 CONNECTING THE UNITS TO METAL FRAME. FOLLOW THE _ (= . F 7
31000 P8l COMPRESSIVE | & ® e \ (714 171/ TEXCSCREWS ATALL OVERLAPS MANUFACTURERS SPECIFICATIONS FOR LOCATING CONNECTORS. =aid EIAL=a Mt
STRENGTH TN L e R . (4) 3/8" X 3/4" BOLTS, FLAT WASHER NUT ASSMY 9 TYPE OF CONSTRUCTION TYPE II-B
CONCORSTONERR 9 | Ee—— - SR QL VAEORBATRER o1 J PRE PUNCHED FACTORY HOLES BUILDING CATEGORY ()
§-5ABB%RvTEH§ng#8F/| IgFP(P)(%TST . — : N 10. ADDITIONAL BRACES REQUIRED ONLY REQUIRED WITH WIND SPEEDS DES'GN STATEMENT-
J SEE FOUNDATION SPECS. TABLE L 6 GREATER THAN OR EQUAL TO 150 MPH OR AS CALLED OUT ON PLANS, ' SHEET NO.
STEEL POSTS SHALL HAVE WELDED
BARS ATTACHED CONCRETE NOTE: 16" 1. ALL WELDS ARE CONTINUOUS WELDS DONE AT THE FACTORY. THESE PLANS WERE DESIGNED FOLLOWING THE 2023 8TH EDITION
1. THIS DETAIL IS APPLICABLE FOR SECTIONS UP TO 40 FEET WIDE. FOR GREATER WIDTHS OR FNGINEERS NOTE 12, MISSION METALS MANUFACTURING 1S NOT RESPONSIBLE FOR FAILURES FLORIDA BUILDING CODE AND ASCE 7-22.INCLUDING CHAPTIER 16 ON
" ATTHE DISCRESSION OF THE ENGINEER (3) CONTINUOUS BARS SHALL BE USED. 1. PURLINS SHALL BE SPACED 48" APART MAXIMUM. OF OR INDUCED BY MATERIALS NOT PROVIDED BY MISSION METALS MANUFACTURING; "Ll
FRAMEWORK, METAL SIDING, METAL ROOFING, FASTENERS, DOORS, WINDOWS, STRUCTURAL DESIGN. THIS STRUCTURE HAS BEEN DESIGNED WITH AN
SEALANTS, CLOSURES AND OTHER METAL BUILDING ACCESSORIES. MINIMUM ULTIMATE WIND SPEED OF 140 MPH, S_ ‘]
/ K™\ ALL POLE MOUNTING DETAIL /G OPTIONAL CONCRETE FOUNDATION / D™\ ZPURLIN SPLICE JOINT THE LIMITED WARRANTY ALSO DOES NOT COVER USING THE MATERIALS (3 SECOND GUST) IN WIND EXPOSURE CATEGORY 'C", THS STRUCTURE
- DT ONALY UM ONTROULABLE BvenTa ED OR ENGINEERED FOR. HAS BEEN DESIGNED AS RISK CATEGORY I, THE COMPONENTS AND CLADDING
w SCALE: NTS S-1 / SCALE: NTS w SCALE: NTS ADDITIONALLY UNCONTROLLABLE EVENTS :
"ACT OF GOD" SUCH AS TORNADOES, FLOODS OR HURRICANES ARE OUTSIDE WERE DESIGNED BASED THE INCLUDED TABLE DESIGN PRESSURES.
THE DESIGN PARAMETERS OF THE LIMITED WARRANTY. DATE: 4/13/2025

4/13/2025 [2:53:43 PM M:\Mission Metals\Steel Bar Joist Bullding\Sean Devore\Sean Devore 40x60x/4.dgn

“*THIS ITEM HAS BEEN DIGITALLY SIGNED AND SEALED BY MICHAEL J. WOJTUNIAK, P.E. FOR ONE SITE SPECIFIC PROJECT ONLY. PRINTED COPIES OF THIS DOCUMENT ARE NOT CONSIDERED SIGNED AND SEALED

AND THE SIGNATURE MUST BE VERIFIED ON ANY ELECTRONIC COPIES. UNLESS THE RAISED SEAL HAS BEEN UTILIZED. ***


Mike
Stamp - FL

tcrews
New Stamp


“*THIS ITEM HAS BEEN DIGITALLY SIGNED AND SEALED BY MICHAEL J. WOJTUNIAK, P.E. FOR ONE SITE SPECIFIC PROJECT ONLY. PRINTED COPIES OF THIS DOCUMENT ARE NOT CONSIDERED SIGNED AND SEALED

AND THE SIGNATURE MUST BE VERIFIED ON ANY ELECTRONIC COPIES. UNLESS THE RAISED SEAL HAS BEEN UTILIZED. ***

METAL SIDING FASTENED TO
CEE CHANNEL W/ #12 X 1-1/4" \
TEK SCREWS 12" O.C. (TYP)

26 GA PBR METAL ROOFING
FASTEN TO STEEL PURLINS
PER SPECIFICATIONS

2"x2"x 5 1/2"x 3/16" STEEL

ANGLE FASTEN TO POST W/

(2) 1/2" x 2" LAG BOLTS AND

FLAT WASHERS THROUGH
PRE-DRILLED HOLES FROM FACTORY

PURLIN CLIPS 48" OC (TYP)

VARIES

VARIES

r (MAX 20)

(MAX 20)

N
—
— N
— N

VARIES

(MAX 20) T

4 TYP
(5' MAX)

N— 16GA CEE-CHANNEL FASTENED TO

STEEL ANGLE W/ (2) #14 x 1-1/4"TEK
SCREWS

CEE-CHANNEL FASTENED TO 6x6 POST W/
STEEL ANGLE AND (2) #14 x 1 1/4" TEK

2"x 2"x 5 1/2"x 3/16" STEEL
ANGLE FASTEN TO 6x6 WOOD
POST OR 8X8 WOOD POST W/
(2) 1/2" x 2" LAG BOLTS

SCALE: NTS

SCREWS AND FLAT WASHERS THROUGH
PRE-DRILLED HOLES FROM FACTORY
v X1 [XIF X
¢ VARIES J VARIES j L VARIES 3
(MAX 20 / (MAX 20 a0 (MAX 20
/ D\ SECTION VIEW

4 TYP
(5' MAX)

4 TYP
(5' MAX)

N 2"x 2"x 5 1/2"x 3/16" STEEL
ANGLE FASTEN TO 6x6 WOOD
POST W/ (2) 1/2" x 2" LAG BOLTS
AND FLAT WASHERS THROUGH
PRE-DRILLED HOLES FROM FACTORY

CONSTRUCTION NOTES:

(A SECTION VIEW
W SCALE: NTS

(4)1/2" X 1-1/2" BOLT,
WASHER AND NUT ASSMY
EVENLY SPACED FASTEN

12

TO UNYIELDING TORQUE

6X257216GA

BRACED ROOF PURLIN
FASTENED TO BAR JOIST
AND BEARING TAB W/

(3) #14 X 3/4" TEK SCREWS

2" X 4" BASE ANGLE FASTENED TO CONC.

W/ 1/4" x 2-3/4" TAPCONS SPACED 24" O.C.

AND WITHIN 6" OF EDGES (TYP)

6" CEE CHANNEL VERT. BETWEEN HORZ. ‘</ )

6" CEE FASTEN w/ 2 x 2 x 3/16 ANGLE AND
#14 X 1-1/4" TEK SCREWS

2"x 2"x 5 1/2"x 3/16" STEEL
ANGLE FASTEN TO BAR JOIST

W/ (2) #14 x 1 1/4" TEK SCREWS

ALL BAR JOISTS PAINTED
W/ RED FLAT EPOXY PRIMER
OR MACHINE BLACK

ASSEMBLY

PT WOOD OR STEEL POST
(TYP) BN

STEEL BEARING PAD
WELDED TO END ANGLE

6" 16 GA EAVE STRUT OR ZEE PURLIN
FASTENED W/ #14 X 1-1/4" TEK SCREWS

n

LT (3) 1/2" X 10" THROUGH BOLT, NUT

AND WASHER ASSEMBLY INTO POST

OR (3) 1/2" x 6" LAG BOLTS AND WASHER

"~

VARES| _——
‘ /\ / -|O| 4 ]/4 n 3
" 2 N
o &
—
87T 2" X 2" X 3/16" STEEL ANGLE
BOTIOM CORD BRACING =
FASTEN W/ 1/2" X 1-1/4" BOLT,WASHER = =
AND NUT ASSMY -=
Yo
16 GA STEEL "CEE" /
OR 6X6,8X8 PT WOOD POST
OR 6X6 STEEL POST
VARIES . o
(MAX 20) 14'0 5-2
[Te)
40' 0" SHOWN MAXIMUM SPAN
SPANS GREATER THAN 40' REQUIRE
ADDITIONAL ENGINEERING %
=
S

6X25716 GA

2" X 4" BASE ANGLE FASTENED TO CONC.
W/ 1/4" x 2-3/4" TAPCONS SPACED 32" O.C.
AND WITHIN 6" OF EDGES (TYP)

THROUGH BOLT OPTION

BAR JOISTS SHALL FASTEN TO
STEEL POSTS W/ (3) 1/2" X 10"
BOLTS, FLAT WASHER AND
NUT ASSMYY.

2"x 2"x 5 1/2"x 3/16" STEEL
ANGLE FASTEN TO POST W/
(2) 1/2"x 2" LAG BOLTS

AND FLAT WASHERS THROUGH
PRE-DRILLED HOLES FROM FACTORY oy

BRACED ROOF PURLIN
FASTENED TO BAR JOIST
AND BEARING TAB W/

(3) #14 X 3/4" TEK SCREWS

26 GA PBR METAL ROOFING
FASTEN TO STEEL PURLINS
PER SPECIFICATIONS

PURLIN TABS 48" OC (TYP)

CONC FOUNDATION

ﬁll'o"mPlH
I A

/B GABLE END VIEW W/ GARAGE OPENING
W SCALE: NTS

T\ POST MAY BE EITHER SURFACE
MOUNTED OR EMBEDDED A MIN.
OF 48" (TYP)

NOTE:
EMBEDDED POST SHALL BE SECURED WITH

CONCRETE PER DETAILS.

TYPICAL BAR JOIST SIZES

BAR JOIST UP TO 15-0" SHALL HAVE A 12" BAR JOIST
2" X 2" X 3/16" TOP/BOTTOM CHORD
1-1/4" X 1-1/4" X 3/16" WEBBING

BAR JOIST FROM 151" TO 40'-0 SHALL HAVE A 18" BAR JOIST
2" X 2" X 3/16" TOP/BOTTOM CHORD
1-1/4" X 1-1/4" X 3/16" WEBBING

BAR JOIST UP FROM 40'-1" TO 65-0" SHALL HAVE A 24" BAR JOIST

2-1/2" X 2-1/2" X 3/16" TOP/BOTTOM CHORD
2" X 2" X 3/16" WEBBING

6x6 PT POST OR LARGER
/ OR 6x6x3/16 STEEL POSTS

—— 16GA CEE CHANNEL

PURLINS TO STEEL ANGLE CLIPS ALTERNATIVE ATTACHEMENT SHALL

BE 3/8" X 2" BOLTS, WASHER AND NUT ASSMY. (TYP).

VARIES
F (MAX 20) T

WINDOW (TYP)

N

\ WINDOW FASTEN TO 6"
CEE CHANNEL w/
PANCAKE SCREWS

A0(VP)__ 4Oy AO(TYP
H5'(|\/|£\X]] 5'(M,[6\X]] 5'(M/[6\X]]J

/ E\ WINDOW DETAIL

SUPP-1/ SCALE: NTS

6 X 2.5716 GABRACED ROOF
PURLIN FASTENED TO BAR JOIST
AND BEARING TAB W/

(2) #12-14 X 1-1/4" TEK SCREWS

METAL ROOFING FASTEN
TO STEEL PURLINS PER

SPECIFICATIONS
9
6" 16 GA EAVE STRUT OR
ZEE PURLIN FASTENED W/ ®
#14 X 1-1/4" TEK SCREWS =
=

FASTEN BOXED SOFFIT 26 GA TRIM TO PBR
WALL PANEL W/ (1) 14 X 3/4" TEK SCREW
EVERY 12" OC

OUTSIDE CLOSURE BETWEEN
TRIM AND WALL PANEL

26 GA PBR PANEL

AR R

1
i
STEEL BAR JOIST

/A BOXED SOFFIT DETAIL (EAVE)

SUPP-1/ SCALE: NTS

6x6, 8X8 PT WOOD POST —

2"x 2"x 5 1/2"x 3/16" STEEL
ANGLE

(4)1/2" X 1-1/2" BOLT,

WASHER AND NUT ASSMY
EVENLY SPACED FASTEN
TO UNYIELDING TORQUE

2"x 2"x 5 1/2" x 3/16" STEEL
ANGLE FASTEN TO BAR JOIST
W/ (2) #14 x 1 1/4" TEK SCREWS

E SUPP-1 )

ALL BAR JOISTS PAINTED
W/ RED FLAT EPOXY PRIMER
OR MACHINE BLACK

| — 16GA CEE CHANNEL

SUPP-1/ SCALE: NTS

4" Ou
5| 2|I O
1004 1/4"
— L
. \5 T 2" X 2" X 3/16" STEEL ANGLE 2" X 2" X 3/16" STEEL ANGLE
BOTTOM CORD BRACING < TOP AND BOTTOM CORD
FASTEN W/ 1/2" X 1-1/4" BOLT, WASHER %é
AND NUT ASSMY -
Nio
L
~ END WALL POST REQUIREMENTS:
— 16 GA STEEL "CEE" 3 FOR BUILDINGS LESS THAN OR EQUAL TO 40' 0"
VARIES. OR 6X6,8X8 PT WOOD zg A SINGLE END WALL POST IS PERMITTED.
(MAX 201 POST OR 6X6 STEEL POST =
© FOR BUILDINGS FROM 40' 1" TO 65' 0"
TWO OR MORE POSTS ARE REQUIRED.
L I/
40' 0" SHOWN
SPANS GREATER THAN 40' REQUIRE =
ADDITIONAL ENGINEERING %é
N
BASE RAIL l
e i

\ ”‘ (I \

\ = (I K \

i = T i
(I = (I I
(I 2" X 4" BASE ANGLE FASTENED TO CONC. g | I
(I W/ 1/4" x 2-3/4" TAPCONS SPACED 32" O.C. | CONC FOUNDATION I
| AND WITHIN 6" OF EDGES (TYP) | |
[ [ POST MAY BE EITHER SURFACE [y

MOUNTED OR EMBEDDED A MIN.
OF 48" (TYP) NOTE:
EMBEDDED POST SHALL BE SECURED WITH
m GABI_E END VlEW CONCRETE PER DETAILS.

STEEL BEARING PAD
WELDED TO END ANGLE

6" 16 GA EAVE STRUT OR ZEE PURLIN
FASTENED W/ #14 X 1-1/4" TEK SCREWS

6X6 PT POST OR LARGER
OR 6X6X 3/16 STEEL POSTS

‘ \
' f
\
\
T 77777777 o J
(2) 1/2"x 2" LAG BOLT AND

FLAT WASHER (TYP)

\ (2) #14 x 1 1/4" TEK

SCREWS OR 3/8" X 2" WASHER
éNDSBOLT ASSMY TO STEEL WALL
IRT

I\ ANGLE 1O WOOD POST

SUPP-1 / SCALE: NTS

P \\
- N
// ﬁ 2II F \
, — \
/ \
[ _
i -
.\ el /
\ /
\ /
\ //
N ]~
16 GA CEE < -
CHANNEL ~e_ -7
/ K\ CEE CHANNEL

SUPP-1/ SCALE: NTS

|

7 T T~
~

N
\

Ve
Ve
/
2|| \
il s
[ . L
\ N /
\ /
\ T /
N /
\\ //

—

\
\
N\
N

/ L\ STEEL ANGLE

2"x 2"x 5 1/2" x 3/16" STEEL

SUPP-1/ SCALE: NTS

VARIES

r (MAX 20) 7

ROLL UP DOOR HEADER

6" CEE CHANNEL FASTEN TO \
POST w/ 2x2x3/16" ANGLE AND

#14 X 1-1/4" TEK SCREWS = 1

6" CEE CHANNEL VERT TO HIGHEST —
CHANNEL THAT ALLOWS HEIGHT OF

OVERALL REVISION DATE
NOVEMBER 14, 2024

PERMITTING

PLANNING

ROLL DOOR FASTEN w/ 2x2x3/16"
ANGLE AND #14 X 1-1/4" TEK SCREWS \j

18GA ANGLE FASTEN

|
VARIES
|

PT WOOD OR STEEL POST
(IvP) N

ROLL UP DOOR (TYP) —

Y
=

]

40" (TYP 40" (Y 40" (VP
5 (M) HL 5 (M) HL 5 (M) 4

N

VARIES

/F\ ROLL DOOR DETAIL
W SCALE: NTS

6X2.5716 GA BRACED ROOF
PURLIN FASTENED TO BAR JOIST
AND BEARING TAB W/

(2) #12-14 X 1-1/4" TEK SCREWS

GABLE END TRIM \3")

METAL ROOFING
FASTEN TO STEEL PURLINS
PER SPECIFICATIONS

FLAT HEAD SCREWS 30"

oC

METAL SIDING FASTEN /

L
A

TO FLAT FACE OF 18 GA
ANGLE (TYP)

TO BAR JOISTW/#]OX]"\

2"x2"x 3/16
STEEL ANGLE TOP AND

BOTTOM CORDS

1"x 1" x 1/8 STEEL
ANGLE WEBS

/ G\ GABLE END FASTENING DETAIL

SUPP-1 /' SCALE: NTS

T 6-1/4"

FASTEN BOXED SOFFIT 26 GA
TRIM TO PBR WALL PANEL W/
(1) 14 X 3/4" TEK SCREW
EVERY 12" OC

g
OUTSIDE CLOSURE BETWEEN
TRIM AND WALL PANEL
26 GA PBR PANEL

/T BOXED SOFFIT DETAIL (GABLE END)
W SCALE: NTS

STEELNOTE:

THE DESIGN, FABRICATION, AND CREATION OF STRUCTURAL STEEL ELEMENTS
SHALL BE IN ACCORDANCE WITH AISC 360 AND AISC CODE OF STANDARD
PRACTICE, 2020.

NOTETO INSTALLER

1. INSTALLER SHALL ADD LATERAL BRACING DURING THE
ERECTION PROCESS TO PREVENT BAR JOIST MOVEMENT.

COMPONENTS AND CLADDING (exo=C, gcpi=0.00 (Open))

PRESSURE (PSF)

ENGINEERS NOTE:

THIS PLAN HAS BEEN PREPARED WITHOUT THE BENEFIT OF A SPECIFIC
SITE PLAN FOR LOCATION CONSTRIAINTS OR CONDITIONS.
CONTRACTOR / BUILDING ERECTOR SHALL CONTACT ENGINEER IF
SITE CONDITIONS EXISTING THAT PREVENT A TYPICAL CONTRUCTION
PER PLAN.

VELOCITY ZONE
ULTIMATE ROOF WALLS

1 2 3 475 AVG NORMAL 4/5 AVG PARALLEL
140MPH | -17.4 -47.8 -54.3 +18.4 -25.1 +18.4 -25.1
150 MPH | -19.9 -564.9 -62.3 +21.2 -28.9 +21.2 -28.9
160 MPH | -22.7 -62.4 -70.9 +24.1 -32.8 +24.1 -32.8

COMPONENTS AND CLADDING (exp=C, gcpi=+/-0.18 (Enclosed))

PRESSURE (PSF)

ANGLE FASTEN TO 6x6 WOOD

POST W/ (2) 3/8" x 2" LAG BOLTS
AND FLAT WASHERS THROUGH
PRE-DRILLED HOLES FROM FACTORY

EAVE WALL ROLL UP DOOR INSTALL NOTES:

1) ROLL UP DOOR UPRIGHTS ATTACH TO HIGHEST PURLIN THAT ALLOWS DOOR
HEIGHT WITH 2X2X3/16 ANGLE BRACKETS AND #14 X 1-1/4" TEK SCREWS
2) ROLL UP DOOR HEADER (6" CEE PURLIN) ATTACH w/ 2X2X3/16 ANGLE BRACKETS
3) ROLL UP DOOR TRACKS ATTACH TO VERTICAL 6" CEE CHANNEL w/ ROLL UP DOOR
SUPPLIED HARDWARE

GABLE END ROLL UP DOOR INSTALL NOTES:
1) SAME AS ABOVE OR PER DETAIL

GENERAL NOTES

1. ALL CONCRETE WORK SHALL BE 3,000 P.S.I. AT 28 DAYS.
2, MINIMUM SOIL BEARING SHALL BE ASSUMED AT 2,000 P.S.F.
3. ALL CONSTRUCTION SHALL BE PROVIDED IN ACCORDANCE
WITH THE FLA. BLDG. CODE 2023 8TH EDITION AND ASCE
7-22 WIND CODES FOR AN ULTIMATE WIND SPEED OF 140 MPH AND GREATER.
THESE PLANS INCLUDE DESIGN FOR ALL WIND
SPEEDS UP TO AND INCLUDING 160 MPH ULTIMATE WIND SPEED.
4, ALL SIDING AND ROOFING TO MINIMUM OF 26 GAUGE
ATTACHED TO THE COLUMNS AS SHOWN AND CONSIDERED TO
BE A MIN. OF 3 SPAN.
5. FOR ZONE LOCATIONS SEE ASCE 7-22. THE
VALUE OF "a" SHALL BE A MINIMUM OF 3-0". FOR ZONE LOADING SEE
COMPONENTS AND CLADDING LOADING CHARTS THIS SHEET.
6. DESIGN LOADINGS:

DEAD LOAD = 5 PSF

ROOF LIVE LOAD = 20 PSF

WIND LOAD = PER TABLE
7. DOOR AND WINDOW DATA: SEE TABLE THIS SHEET.
8. ALL WINDOWS AND MAN DOORS MAY USE 1/4"X1" LONG
TEK SCREWS IN LIEU OF THE WOOD SCREWS WHEN
CONNECTING THE UNITS TO METAL FRAME. FOLLOW THE
MANUFACTURERS SPECIFICATIONS FOR LOCATING CONNECTORS.
9. TYPE OF CONSTRUCTION TYPE II-B

BUILDING CATEGORY 1)

VELOCITY ZONE
ULTIMATE ROOF WALLS

1 2 3 475 AVG NORMAL 4/5 AVG PARALLEL
140 MPH | -21.3 -51.7 -68.2 +22.1 -28.7 +22.1 -28.7
150 MPH | -24.4 -69.3 -66.8 +22.3 -32.9 +22.3 -32.9
160 MPH | -27.8 -67.5 -76.0 +28.9 -37.4 +28.9 -37.4
170 MPH | -30.6 -74.3 -83.6 +31.8 -41.1 +31.8 -41.1

COMPONENTS AND CLADDING (exp

=C, gcpi=+/-0.55 (Partially Enclosed))

PRESSURE (PSF)

VELOCITY

ZONE

ULTIMATE ROOF WALLS

1 2 3 4/5 AVG NORMAL 4/5 AVG PARALLEL
140 MPH | -29.3 -59.7 -66.3 +30.2 -36.7 +30.2 -36.7
150 MPH | -33.7 -68.6 -76.1 +34.7 -42.1 +34.7 -42.1
160 MPH | -38.3 -78.0 -86.5 +39.4 -47.9 +39.4 -47.9

DESCRIPTION

BY

DATE

DESCRIPTION

REVISIONS:

DATE

ENGINEERING

ENGINEERED PERMITS, INC.
311 SOUTH WOODLAND BIVD.
SUITE A

DELAND, FL 32720

PHONE: 386-734-0830

FAX: 386-734-8226

CERT NO. 26298

EMAIL: epi@epieng.net

MISSION METALS MANUFACTURING
STEEL BAR JOIST
ENCLOSURE DETAIL OPTION

PROJECT:
SHEET TITLE:

S
'\\\; ‘\&\. .
t

2z~
{ =)
T

EIOAY

A\ )
g.ne

U

n‘l’.
%

o

e

mwo;ru'r

TATE OF |
ol

-OR\O.":"&??‘

10.  ADDITIONAL BRACES REQUIRED ONLY RI&QUIRED WITH WIND SPEEDS

GREATER THAN OR EQUAL TO 150 MPH OR AS CALLED OUT ON PLANS.

11, ALL WELDS ARE CONTINUOUS WELDS DONE AT THE FACTORY.

12, MISSION METALS MANUFACTURING IS NOT RESPONSIBLE FOR FAILURES
OF OR INDUCED BY MATERIALS NOT PROVIDED BY MISSION METALS MANUFACTURING;
FRAMEWORK, METAL SIDING, METAL ROOFING, FASTENERS, DOORS, WINDOWS,
SEALANTS, CLOSURES AND OTHER METAL BUILDING ACCESSORIES.

THE LIMITED WARRANTY ALSO DOES NOT COVER USING THE MATERIALS

IN'A MANNER THAT THEY ARE NOT DESIGNED OR ENGINEERED FOR.
ADDITIONALLY UNCONTROLLABLE EVENTS

"ACT OF GOD" SUCH AS TORNADOES, FLOODS OR HURRICANES ARE OUTSIDE
THE DESIGN PARAMETERS OF THE LIMITED WARRANTY.

THESE PLANS WERE DESIGNED FOLLOWING THE 2023 8TH EDITION
FLORIDA BUILDING CODE AND ASCE 7-22.INCLUDING CHAPTER 16 ON
STRUCTURAL DESIGN. THIS STRUCTURE HAS BEEN DESIGNED WITH AN
MINIMUM ULTIMATE WIND SPEED OF 140 MPH,

(3 SECOND GUST) IN WIND EXPOSURE CATEGORY "C", THIS STRUCTURE
HAS BEEN DESIGNED AS RISK CATEGORY |, THE COMPONENTS AND CLADDING
WERE DESIGNED BASED THE INCLUDED TABLE DESIGN PRESSURES.

“*THIS ITEM HAS BEEN DIGITALLY SIGNED AND SEALED BY MICHAEL J. WOJTUNIAK, P.E. FOR ONE SITE SPECIFIC PROJECT ONLY. PRINTED COPIES OF THIS DOCUMENT ARE NOT CONSIDERED SIGNED AND SEALED

AND THE SIGNATURE MUST BE VERIFIED ON ANY ELECTRONIC COPIES. UNLESS THE RAISED SEAL HAS BEEN UTILIZED. ***

On e = 2
«,),,r’,‘m;,?\“‘ S
MISSION METALS MFFG
DESIGN STATEMENT: SHEET NO.

SUPP-1

DATE: 4/13/2025

1/13/2025 12:54:06 PM

M:\Mission Metals\Steel Bar Joist Bullding\Sean Devore\Sean Devore 40x60x/4.dgn



Mike
Stamp - FL


	S-1 Sean Devore 40x60x14
	SUPP-1 Sean Devore 40x60x14

		2025-04-13T12:55:35-0400
	Michael J Wojtuniak




